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Non- cooperative Model
-
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Hsc transition of a chain
-

N residues , currently independent

= qN= 8=4 tk distinguishable
( I 1- KIN

Eg! 4 sites

Q= ( l THY = It 4kt 6k 't 445+64
coeds are ( Nnn ) THCccCHC C

cette

CCC H



Q -- ( ltklN-I.gov/kn"
from an energy perspective

f

o÷÷÷. )= Zewcele
- BE Eunice -NHE

= Ifwcegfetiscyn
"

w c
K



Q = ( I t k )
'
= ( I t e BE IN

how many
residues are in a H

configuration on average Cnn>

fµ= httN
Q i.Kati

want fr, =L My > = In IPCnut



t.in?..oEnh:÷;¥÷?." link
"

f Q
binomial

r

⑦ = I ( nvm I knit
@ InQ

hHeo

* Tk
= to . In ) . Cnn , le

"" "

x k

It IT



fu - E Q -CHKIN

-
independent

c res model

fµ=ka.LI/n(ltklN1nCa4=xlaCalOlnx--kfzlnlltk1Tx - I

=%tk, = IS doesn't

Itk dependant
-

far Nresides



'

( ft E
TH#
How does this correct to

the energy description
( Etotac> e - E . Ln H>

Les -- -off -- -off offs
k=eBE ftp.aEEPE-EK



Hetero polymers
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20 natural amino acids
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Interacting Residues
-

Hfc configuration should really
depend on neighbors
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add a term (T) for neighboring H 's
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Exact problem ( like Id ising model )
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Generate som "Tranter matrices "

multiply matrices , get sums
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Other variations
-

Zimm -Brass
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